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Choose the best answers in the following.

1. A society’s resources consist of the free gifts of , such as land, forests, and minerals;
human resources, both mental and physical.
a. economics b. nature
c. market d. production

2. This country has been for many years; no country has had any economic ties with
them.
a. cooperative b. accumulative
c. isolated d. satisfied

3. Economics, like other , 1s concerned with questions, statements, and hypotheses that
could conceivably be shown to be wrong by actual observations of the world.
a. researches b. tools
C. norms d. sciences

4. Not very long ago Americans prided themselves on having the highest of living in
the world and a rate of growth in the per capita output of goods and services.
a. allocation b. institutions

c. standards d. consumption

5. The exchange of goods and services in early societies commonly took place by simple
agreement among neighbours. The agreement of both groups was needed.
a. mutual b. monetary

C. economic d. marketing
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6. The final step for the economist is to consider whether modifications of the plan, or
to it that may be used instead of it, will achieve the goals equally well but at lower cost.
a. rationing b. alternatives
c. allotment d. benefits

7. If resources are so scarce that there are not enough of them to produce all urgently required
goods, then available will not be left idle.
a. resources b. owners
c. workers d. values

8. It is impossible to imagine a modern economy operating without the use of
something very much like it.
a. utilities b. production

c. income d. money

9. The transactions demand for money arises because of the of payments and receipts,

that is, there is no harmony in them.
a. assessments b. taxes
¢. non-synchronization d. speculative balances
10. The motive that leads firms to hold more money in order to avoid the inherent in a
fluctuating price of bonds was analyzed first by Keynes.
a. prices b. risks
c. demands d. payments
11. The demand for money measure in purchasing-power units will be related to the real value of
income, the real value of wealth, and the rate on interest.
a. national b. cash
c. fluctuation d. medium
12. In macroeconomics we deal with the market for goods as a whole, treating all the markets for
different or commodities, such as the markets for agricultural products.
a. economies b. consumptions

c. goods d. balances
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. Keynesian developed during the great depression of the 1930s and showed the way
out of such depressions.
a. constant budget b. economics
C. monetary system d. GNP
. Gross national product is the basic measure of activity.
a. price b. population
¢. nominal d. economic
. Suppose we were in a deep with 9 percent unemployment. How many years would
it take us to return to, say, 6 percent unemployment?
a. recession b. falling
c. aggregate d. expansion
. In the case of unemployment potential output is going to waste, and it is therefore clear why
of unemployment is desirable; more people should be employed.
a. stabilization b. increase
C. pattern d. reduction
. Monetary in the United States is controlled by the Federal Reserve System (the FED).
It decides which procedures should be followed.
a. reduction b. economy

c. policy d. booming

. Stabilization policy is also known as countercyclical policy, that is, policy to

trade cycle or business cycle, that is not too fast or too slow.
a. moderate b. fluctuate
c. predict d. increase
. In the simplest form we assume is a simple function of income. People keep their
extra income in banks.
a. investment b. wage rate

c. stock d. savings
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. Following Keyes the demand for money can be visualized as consisting of two parts: one for
market transactions, the other for money as an asset related to the
a. discount b. interest
c. income d. fiscal
. GNP (Gross National Product) values goods at prices.
a. market b. national

c. stabilized d. aggregate

. We distinguish three possible changes in fiscal variables: changes in government purchases,

changes in transfers, and changes.
a. equilibrium b. consumption
c. income tax d. depreciated
. The budget is the excess of the government’s revenues, consisting of taxes, over its
total expenditures, consisting of purchases of goods and services, and transfer payments.
a. deficit b. surplus
c. expenditure d. borrowing
. Differences in family or joint decision-making models can usually be traced to
assumed maximand.
a. consumers b. differences
c. utilities d. analyses
. Unions have performed their rhetoric and activities to accommodate the notion of common
for different events, and this new approach has changed the nature of bargaining.
a. cause b. value
c. production d. allocation
evidence suggests that relationship between output and employment is
much more complex than originally supposed.
a. wholesale b. monetary

c. econometric d. wage
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27. Union influence will be weakened when different unions are in competition with each other
and that the likelihood of industrial conflict is increased under ............ .
a. establishment b. multi-unionism
¢. management d. bargaining

28. In any free enterprise or even mixed economy, firms face significant variation in the demand
for their ............ .
a. products b. markets
c. fluctuations d. prices

29. Indeed the question as to whether current is primarily of the equilibrium or
disequilibrium variety is a source of empirical and, in some cases, ideological controversy.
a. market b. contract

¢. unemployment d. commerce

30. While workers search for jobs, do not need to search an adequate supply of

homogeneous workers of known productivity is available to the firm.
a. economists b. unions

C. consumers d. employers




